M10 Factoring Synthesis
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—— Do worlk on separate papen |
1. 3x2+ 24x + 36 2. 2ax2-6ax-80a

3. -x3-4x2 4+ 21x 4. 5x2 -55xy + 120y2

5. 8x2+30x + 18 6.  -6y2-18y+ 24

7. 8ax2 -31axy -4ay2 8.  5ad +17a% + 1233

9. 6x4 - 96 10.  5a2 - 80bh2

1. 27x2 - 75y2 12, -10t2 + 360

13.  x%4-81 14. 7x8-7

15.  12ab2 + 48a ~ 16, 7x2 + 56x + 112

17.  5ay? -%an + 2453 18.  9a2x - 30abx + 25b2x
19.  -4x2 -36xy - 81y2 20. x4-3x2-54

- /- e e e i e cemmen mivnn ey

4 - 37m2n2 4 4n A 22.  5y4-65y2 4 180
21, 9m4-37m2n2 + 4n CC@‘ Dn‘\l y y

23.  16a%-72a2b2 + g1p4 24. 72 +10x2 - 2x4
. a> b2
25. p8-5pig4 + 4q8 : 26. T
2 2—
o7, 127 Bonus 28.  x(x - 5) + 8( - 5)
S (op'l'lonal)
29. a?(a-3)+4a(3-a)-21(a-3) 30. (a-5)2-(b+4)2
31, x2+4x+4-y2 32. a2-x246x-9

Answers on Back!
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Answers

11.
13.
15.
17.
19.
21

23.

25.

27.

29.
31.

3(x+2)(x+6)
-X(x+7)(x-3)
2(x+3)(4x+3)
a(8x+y)(x-4y)
B(x2+4)(x+2)(x-2)
3(3x+5y)(3x-5y)
(x2+9) (x+3)(x-3)
12a(b2+4)
5a(y-7)2
-(2x+9y)2
(3m+n)(3m-n)(m+2n)(m-2n)

(2a-3b)2(2a+3b)2
(p2-292)(p2+242) (p2+g2)(p+q) (p-q)
x yYx y

{53153

(a-3)(a-7)(a+3)

(x+2+Yy)(x+2-y)

10.
12,

14.
16.
18.
20.
22,

24.

N

30.
32.

8.

2a(x-8)(x+5)
5(x-3y)(x-8y)
-6(y+4)(y-1)
a3(5a+12)(a+1)
5(a-+4b)(a-4b)
-10(t+6)(t-6)

7 (A1) (x2+1) (x+1)(x-1)
7(x+4)2 )
x(3a-5b)2

(x2+8) (x+3)(x-3)
5(y+3)(y-3)(y+2)(y-2)

-2(x2+4) (x+3)(x-3)
et
(x-5)(x+8)

(a+b-1)(a-b-9)

(a-x+3)(a+x-3)



